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Most Important Questions 

Inventory – PYQ May 2025 

A trader prepared his final accounts on 31st March, each year. Due to some unavoidable 
reasons, no inventory taking could be possible till 15th April,2025 on which date total 
cost of goods in his store came to Rs.1,50,000. 

The following facts were established between 31st March and 15th April, 2025: 

Sales (Credit)   Rs. 70,000 
Sales (Cash)   Rs. 25,000 
Purchases (Cash)   Rs. 15,000 
Purchases (Credit)  Rs. 25,000 

On 25th March, goods of the sale value of Rs. 30,000 were sent on sale or return basis 
to a customer, the period of approval being four weeks. He returned 25% of the goods 
on 12th April, approving the rest; the customer was billed on 25th April. 

The trader had also received goods costing Rs. 10,000 in March, for sale on consignment 
basis. 50% of the goods had been sold by 31st March and another 25% by 15th April. 
These sales are not included in above sales.  

Goods are sold by the trader at a profit of 20% on sales. 

You are required to ascertain the value of inventory as on 31st March, 2025. 
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BRS – PYQ May 2025 

Prepare the Bank Reconciliation Statement of M/s. XYZ Brothers on 31st March, 2025 
from the particulars given below: 

(i) The Bank Pass Book had a debit balance of Rs. 62,500 on 31st March, 2025. 

(ii) A cheque worth Rs. 1,000 directly deposited into Bank by customer but no entry 
was made in the Cash Book. 

(iii) Out of cheques issued worth Rs. 85,000. Cheques amounting to Rs. 50,000 only 
were presented for payment till 31st March, 2025. 

(iv) A cheque for Rs. 10,000 received and entered in the Cash Book but in was not sent 
to the Bank. 

(v) Cheques worth Rs. 50,000 had been sent to Bank for collection but the collection 
was reported by the Bank as under. 

(1) Cheques collected before 31st March,2025, Rs. 35,000. 
(2) Cheques collected on 10th April, 2025 Rs. 10,000. 
(3) Cheques collected on 12th April, 2025 Rs. 5,000. 

(vi) The Bank made a direct payment of Rs. 1,500 which was not recorded in the Cash 
Book. 

(vii) Interest on Overdraft charges by the bank Rs. 4,000 was not recorded in the Cash 
Book. 

(viii)Bank charges worth Rs. 200 have been entered twice in the book whereas 
Insurance charges for Rs. 175 directly paid by Bank was not at all entered in the Cash 
Book. 

(ix) The credit side of bank column of Cash Book was under cast by Rs. 5,000. 
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Incomplete Records – RTP Sep 2025 
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ROE – MTP Sep 2025 

Mr. Kamal’s trial balance as on 31st March, 2025 did not agree. The difference was put 
to a Suspense Account. 

During the next trading period, the following errors were discovered: 

(i) The total of the Purchases Book of one page, Rs. 15,615 was carried forward to the 
next page as Rs. 16,551. 

(ii) A sale of Rs. 462 was entered in the Sales Book as Rs. 642 and posted to the credit 
of the customer. 

(iii) A return to creditor, Rs. 5,420 was entered in the Returns Inward Book; however, 
the creditor's account was correctly posted. 

(iv) Cash received from Sita, Rs. 1,420 was posted to debit of Geeta. 

(v) Goods worth Rs. 1,400 were dispatched to a customer before the close of the year 
but no invoice was made out. 

(vi) Goods worth Rs. 3,200 were sent on sale or return basis to a customer and entered 
in the Sales Book at the close of the year, the customer still had the option to return the 
goods. The gross profit margin was 20% on Sale. 

(vii) Rs. 500 due from Mr. Sam was omitted to be taken ·to the trial balance. 

(viii) Sale of goods to Mr. Manoj for Rs. 16,000 was omitted to be recorded. 

You are required to give journal entries to rectify the errors in a way so as to show the 
current year's profit or loss correctly       (10 Marks) 
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Partnership – PYQ Sep 2024 

X, Y and Z were in a firm sharing profit and loss as 3: 2: 1. Their Balance Sheet on 31st 
March, 2024 was as follows: 

 

 

 

 

 

 

 

 

 

 

 

 

Z retired on the above date on the following terms: 

(1) Goodwill of the firm was valued at Rs. 60,000. 
(2) Value of patents was to be reduced by 20% and that of machinery to 90%. 
(3) Provision for doubtful debts was to be raised to 10%. 
(4) Liability on account of Provident fund was only Rs. 6,000. 
(5) Liability for workmen compensation to the extent of Rs. 6,000 is to be created. 
(6) Z took over the investment at market value. 
(7) Amount due to Z is to be settled on the following basis- 50% on retirement, 50% 
of the balance within one year and the balance by a bill of exchange (without interest) 
at 3 months. 
 
You are required the following: 

(i) Show entries for the treatment of goodwill, 
(ii) Prepare Revaluation Account, 
(iii) Partner Capital Account, & 
(iv) Balance Sheet.          (10 Marks) 
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BRS – MTP Sep 2025 

On 30th June. 2025, Cash Book of Mr. Gaurav (Bank Column of Account No. 1) shows 
a Bank Overdraft of Rs. 1,97,400. On going through the Bank Pass book for reconciling 
the Balance, she found the following: 

(a) Out of cheques drawn on 26th June, those for Rs. 14,800 were cashed by the 
bankers on 2nd July. 

(b) A crossed cheque for Rs. 3000 given to Abdul, was returned by him on 1st July,2025 
and a bearer cheque was issued to him on the same date. 

(c) Cash and cheques amounting to Rs. 13,600 were deposited in the Bank on 29th 
June., but cheques worth Rs. 5,200 were cleared by the Bank on 1st July., and one 
cheque for Rs. 1,000 was returned by them as dishonoured on the latter date.  

(d) According to Gaurav’s standing instructions, the bankers have on 30th June, paid 
Rs. 1,280 as interest to his creditors, paid quarterly premium on his policy amounting 
to Rs. 640 and have paid a second call of Rs. 2,400 on shares held by his and lodged 
with the bankers for safe custody. They have also received Rs. 600 as dividend on his 
shares and recovered an Insurance Claim of Rs. 3,200, as their charges and commission 
charged on the above being Rs. 400. On receipt of information of the above 
transaction, he has passed necessary entries in his Cash Book on 1st July. 

(e) Bankers seem to have given a wrong credit for Rs. 2,000 paid in by him in No. 2 
account and wrong debit in respect of a cheque for Rs. 1,200 drawn against her No. 2 
account. 

Prepare Bank Reconciliation Statement.       (10 Marks) 
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Company Accounts – MTP Sep 2025 

The Balance Sheet of XYZ Ltd. as at 31st March, 2023 inter alia includes the following 
information:  

1,00,000, 8% Preference Shares of Rs. 100 each, Rs. 70 paid up   70,00,000 

2,00,000 Equity Shares of Rs. 100 each fully paid up     2,00,00,000 

Securities Premium          10,00,000 

Capital Redemption Reserve         40,00,000 

General Reserve           1,0000,000 

Bank             30,00,000 

Under the terms of their issue, the preference shares are redeemable on 31st March, 
2024 at 5% premium. In order to finance the redemption, the company makes a rights 
issue of 1,00,000 equity shares of Rs. 100 each at Rs. 110 per share, Rs. 20 being payable 
on application, Rs. 35 (including premium) on allotment and the balance on 1st 
January, 2025. The issue was fully subscribed and allotment made on 1st March, 2024. 
The money due on allotment were duly received by 31st March, 2024. The preference 
shares were redeemed after fulfilling the necessary conditions of Section 55 of the 
Companies Act, 2013.  

You are asked to pass the necessary Journal Entries. (Ignore date column). 
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Partnership – MTP Sep 25 

M/s. Wellore is a partnership firm with the partners X, Y and Z sharing profits and losses 
in the ratio of 3:2:5. The balance sheet of the firm as on 30th June, 2025 was as under: 

 

 

 

 

 

 

 

 

It was mutually agreed that Y will retire from partnership and in his place P will be 
admitted as a partner with effect from 1st July, 2025. For this purpose, following 
adjustments are to be made: 

(a) Goodwill of the firm is to be valued at Rs. 15 lakhs due to the firm's location 
advantage but the same will not appear as an asset in the books of the reconstituted 
firm. 

(b) Building and Plant & Machinery are to be valued at 95% and 80% of the respective 
balance sheet values. Investments are to be taken over by the retiring partner at Rs. 
2,30,000. Trade receivables are considered good only upto 85% of the balance sheet 
figure. Balance to be considered bad. 

(c) In the reconstituted firm, the total capital will be 20 lakhs, which will be contributed 
by X, Z and P in their new profit sharing ratio, which is 3:4:3. 

(d) The amount due to retiring partner shall be transferred to his loan account. 

You are required to prepare Revaluation Account and Partners' Capital Accounts after 
reconstitution, along with working notes.      (10 Marks) 

 

 

 

-

J 20.

000

230.000
=>

119250
-
--

~

-

↓,57 . ↓ Lot
-

-

~

- -
X

-
-



WN Old Share - New Share
=

Y 8 - T : NL

Y To = Sac .

2 -to = to So .

P T Gain

Pcop Or . 450.000

To Y cap 300
.000

To I
cap Al 150

,
000



 

 

 

Cro

To Bank By Bank
= Add



 

 

 

 

 

 

 

- -

20 ,00,000
-

X-Bx20Lac
Glac

2-SL
P- GL



Depreciation - PYQ Jan 2025 

A firm purchased a second-hand machinery on April 1, 2021 for Rs. 15,00,000 
subsequent to which Rs, 2,00,000 were spent on its repairs and installation. On 
October 1, 2021 another machinery was purchased for Rs. 9,00,000 and cost of 
installing the machine in a new plant is Rs. 20,000. The firm also shifted the machinery 
purchased on April 1, 2021 to the new plant and incurred freight of Rs. 10,000. They 
adopted a policy of charging depreciation @ 12% per annum on diminishing balance 
method. On April 1, 2023 it was decided to change the method and rate of depreciation 
to straight line basis. On this date, the remaining useful life was assessed as 5 years for 
both the machines purchased with no scrap value. On October 1, 2023 the first machine 
become outdated and sold for Rs. 2,50,000. On the same date, another machinery was 
purchased for Rs. 8,50,000. The estimated useful life of the machine is 10 years and 
residual value is Rs. 30,000. You are required to prepare the machinery account for the 
year ending March 31, 2024.               (10 Marks) 



 

 

 

 

 



 

 

 

 

 

 

 

 



Company Accounts – PYQ May 2025 
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Bills of Exchange – PYQ Jan 2025 

Mr. A accepts two bills of exchange on June 1, 2024 for Rs. 1,50,000 and Rs. 60,000 
drawn on him by Mr. B. The bill of exchange for Rs. 1,50,000 is for two months while 
the bill of exchange for Rs. 60,000 is for three months. Mr. B got the first bill discounted 
with the bank for Rs. 1,49,000 on June 3, 2024. On August 2, 2024 Mr. A requested 
Mr. B to cancel both the bills and drew a new bill on him with the combined amount 
of both the bills along with interest @ 12% per annum for a period of two months. 
Before the due date of the renewed bill on September 3, 2024, Mr. A becomes insolvent 
and only 40 paise in a rupee could be recovered from his estate. You are required to 
give the journal entries in the books of Mr. B.        
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Bill of Exchange – RTP May 2025 

On October, 2024, Samar sells goods to Amar for Rs. 25,000 plus IGST @ 18% and 
draws two bills of exchange on him; the first bill for Rs. 15,000 for 2 months and second 
bill for the balance for 3 months. Amar accepts and returns these bills to Samar. Both 
the bills are sent to the bank for collection on 1st October, 2024. In due course, Samar 
receives the information from the bank on the due date of the respective bill that the 
bill for Rs. 15,000 has been duly met and the other bill has been dishonored. Noting 
charges paid on the dishonor of second bill are Rs. 500. Pass the journal entries in the 
books of Samar along with narration. 
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NPO – RTP May 2025 
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Redemption of Debentures – PYQ Jan 2025 

A company had issued 20,000, 8% partly convertible debentures of Rs. 100 each on 
April 1, 2023. The debentures are due for redemption on June 1, 2024. The terms of 
issue of debentures provided that 30% of the debentures will be converted into equity 
shares (Nominal Value Rs.10) at a price of 20 per share and remaining will be 
redeemable at a premium of 5%.  

(i) Calculate the number of equity shares to be allotted to the debenture holders at the 
time of conversion.  

(ii) Give the necessary journal entries related to the conversion and redemption of 
debentures assuming that the company has created the Debenture Redemption Reserve 
and also invested required amount for redemption of debentures at the time of issue. 
Debenture Redemption Reserve Investment are sold at par value.     
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Redemption of Debentures – Sep 2024 

XYZ Ltd. an unlisted company issued 6000, 12% debentures of Rs. 100 each at a 
discount of 5% on 01.04.2021. Interest is payable annually on 31st March every year. 
The debentures are redeemable at premium of 10% in 3 equal annual installments 
beginning from 31.03.2022. The company invested in specified securities for the 
redemption of debentures. Entire loss on issue to be booked in the 1st year. You are 
required to pass journal entries for all the 3 years.     (10 Marks) 
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Journal – RTP May 2025 

Prepare Journal Entries for the following transactions in the books of Harpreet:  

i. Customer’s cheque for Rs. 4,000 returned dishonoured for insufficient funds in 
his accounts. The customer had availed a cash discount of Rs. 400.  

ii. Income tax liability of proprietor Rs. 8,500 was paid out of petty cash. 
iii. Defective goods worth Rs. 5,000 are sold for 3,000.  
iv. Purchase of goods from Sunny of the list price of Rs. 20,000. He allowed 5% 

trade discount, Rs. 200 cash discount was also allowed for quick payment.  
v. Purchased goods from Sarah industries for Rs. 50,000 plus CGST and SGST@6% 

each.  
vi. Goods given as charity costing Rs. 1,600, sale price Rs. 2,000. CGST and SGST 

@ 6% each was paid at the time of purchase of such goods   
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Issue of Shares – MTP Sep 2025 

Divis Pharma Limited issued 50,000 equity shares of Rs. 10 each payable as Rs. 3per 
share on application, Rs. 5 per share (including Rs. 2 as premium) on allotment and Rs. 
4 per share on call. All these shares were subscribed. Money due on all shares was fully 
received except from X, holding 1000 shares who failed to pay the allotment and call 
money and Y, holding 2000 shares, failed to pay the call money. All those 3,000 shares 
were forfeited. Out of forfeited shares, 2,500 shares (including whole of X's shares) 
were subsequently re-issued to Z as fully paid up at a discount of Rs. 2 per share. 

Pass necessary journal entries in the books of Divis Pharma limited. Also prepare Balance 
Sheet and notes to accounts of the company.      (15 Marks) 
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Depreciation – MTP May 2025 

On 1st April,2024, Supervisor & Co. which depreciates its machinery @10% p.a. on 
diminishing balance method, had Rs. 29,16,000 to the debit of Machinery Account. On 
1st October, 2024, part of machinery purchased on 1st April, 2022 for Rs. 240,000 was 
sold for Rs. 1,35,000. Also, a new machinery at a cost of Rs. 4,50,000 was purchased 
on 1st October, 2024 and installed on the same date and installation charges being Rs. 
24,000. The company changed the method of depreciation from diminishing balance 
method to straight line method with effect from 1st April,2024. The rate of depreciation 
remains the same. Show the Machinery Account for the year 2024-25.         (10 Marks) 
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Model Test Papers 

Following information is provided for M/s. Vikram traders for the year ended 31st 
March, 2024:  
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2) Final Accounts 
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